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HISTORY
( Major )

Paper : 5.1
( India under the East India Company )
Full Marks : 60

Time: 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer in one word or in one sentence :
1x7=7
@bl 3 q1 9Bl T Teq il -

(a) Who was the first Indian Ruler to sign
the Subsidiary Alliance Treaty with
Lord Wellesley?

6 SR SRqegae fiwel Hfes Frw
T4 YU SO PRSI Sfee 2
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(b)

(c)

(@)

(e)
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(2)

In which region did the Bhonsles
rule?

(10 AR (Il TEETS NP
Ffafee 2

Which battle resulted in the end of
French power in India?

(L Jad FoTTaC] OAoe F10! *feq i
a2 2

Which Princely State was not
annexed under the Doctrine of Lapse
by the East India Company in spite of
not having a natural heir?

Feffe TeAldeRl ¢ERR Pl @me
@ A FEREA Ao @R 38
B @EAAIR [ SR 9 @R AR 2

Name the Governor-General who
adopted a policy of the European-
ization of bureaucracy and an
exclusion of Indians from higher
posts.

FFE e IR ST SR
ACAETSY BSEATF F WS a3
T4 (GCACIETSee A o141 |

( Continued )

0

(9)

2. Answer in brief :

(3)

Who was the founder of the Nizam’s
State in Hyderabad?

ZERMS ST > (@Ie 12 IR 2

In which year was the Diwani of
Bengal transferred to the East India
Company?

@M tTe 9| A B OFFE @rEAhR
ZroLE TR 41 (3 ?

5 Teq fu

(@)

(b)

(c)

'8A/236

What was ‘Black Hole Tragedy’?
g zeon” 1% wifes 2

What was misl?

fafest e & @1 2

Who fought against Tipu Sultan in
the Third Mysore War?

Por WMRFI Jae 07 PR Rewm @i
T Dlfee 2
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(4)

(d) Arrange the following Revolts in
chronological order :

TR fRcaroTgz T ST
(i Bhil Uprising
foa facarz
(ii) Santhal Uprising
RICRIGREeEY
(iii) Sanyasi Revolt
ST R
(iv) Kol Uprising
@ fearz

3. Write short notes on any three of the
following : 5x3=15

R f e fofeivm e7@e 5y (G s
(a) Dual Government in Bengal
RO (@S *PT
(b) Hyder Ali
2134 e

(c) Decline of Cottage Industries

Ifoa Fem we
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(5 )

(d) Rohilla War
e @

(e) Mahalwari Settlement

TR TG

4. Answer any three of the following
questions : 10%x3=30

e AR o[ i e fofer Tes fam

(a) “If the Battle of Plassey had made the
English powerful factors in the
politics of Bengal, the victory of Buxar
made them a great power of Northern
India and contenders of the
supremacy of the whole country.”
Discuss.

“If the Battle of Plassey had made
the English powerful factors in the
politics of Bengal, the victory of
Buxar made them a great power of
Northern India and contenders of
the supremacy of the whole
country.” SCEAGA 94 |
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(b)

(c)

(@)

(e)

8A/236

(6)

“Commercialization of agriculture in
India took place primarily to feed the
British Industries.” Discuss.

“Commercialization of agriculture in
India took place primarily to feed
the British Industries.” Se57 347 |

Trace the circumstances that led to
the introduction of the Permanent
Settlement in Bengal. Discuss its
impact on landlords, peasants and
the government.

o ARfEfes aeswme B Tmim omd
T C2fed, WA 0 TER, T o
BIFIER S«S S 2SI SIS F4 |

Discuss the basic features of the
judicial administration under the
East India Company.

22 2 @AM SRS @[ T R
241 CIMEPTIR. ST 541 |

What was the Doctrine of Lapse? To
what extent was its application by
Dalhousie  responsible for the
outbreak of the Revolt of 18577

FeRea e fo Wt 2 ooy o3
M3 aamel, svea N BEVSeEs e
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(7))

() Trace the course of the Anglo-

Maratha relations in the first
two decades of the nineteenth

century. Account for the ultimate
defeat of the Maratha power by the

British.
Bz e RSN WIE ‘ify‘!\_a EXERISI)
oo e e 4 | SEers T
e it zos e cafee 2
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